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Status

・ Check the geometry described in the CDR

・ Check the geometry file in the LDT & how to 
change it

・ Check (read the manual) and run the simulation 
with the CEPC baseline detector configuration

・ Compare the output result 



Detector Geometry  

・ Geometry file stored under LDT2.0  is 
“cepc-all.bgeom” 

from CDR vol.2 

cepc-all.bgeom: vtx part



- SIT-

from CDR vol.2 

# Description of the 
cepc-all.bgeom is 
pasted in the next page 

Detector Geometry  

slightly different 
number 368 ?
( comparison with 
the value in next 
page)



Detector Geometry  



Detector Geometry  

- TPC-

information is scattered .... but (as I 
remembered) we can confirm the numbers in 
the CDR 



74 Magnetic field and beam spot
75 
76 Solenoid magnetic field [T]  :   3.5
77 Range in x [mm]              :  -0    0
78 Range in y [mm]              :  -0    0
79 Range in z [mm]              :  -0    0

Detector Geometry  

- Magnetic field-
・ default parameter in “cepc-all.bgeom” 

74 Magnetic field and beam spot
75 
76 Solenoid magnetic field [T]  :   3.0
77 Range in x [mm]              :  -0    0
78 Range in y [mm]              :  -0    0
79 Range in z [mm]              :  -0    0



Transverse impact parameter resolution

from CDR vol.2 



Comparison

## At a glance, the simulation result coincide with the one in the CDR, but 
would need to compare the values. ( since they are slightly different)
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Transverse momentum resolution

from CDR vol.2 



Comparison



Next step 

・ Change the geometry 

-- removing the TPC

40 Time Projection Chamber (TPC)
41 
sigma^2=sigma0^2+sigma1^2*sin(beta)^2+Cdiff^2*6mm/h
*sin(theta)*Ldrift[m]
42 Number of layers             :  0
43 Radii [mm]                   :  0
44 Upper limit in z [mm]        :  0
45 Lower limit in z [mm]        :  0
46 Efficiency RPhi :  0
47 Efficiency z                 :  0
48 Thickness [rad. lengths]     :  0
49 sigma0(RPhi) [1e-6m]         :  0
50 sigma1(RPhi) [1e-6m]         :  0
51 Cdiff(RPhi)  [1e-6m/sqrt(m)] :  0
52 sigma0(z)    [1e-6m]         :  0
53 sigma1(z)    [1e-6m]         :  0
54 Cdiff(z)     [1e-6m/sqrt(m)] :  0


